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Annex 6: Sequential analysis of the interview with C 

Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

Questioning 
phase 

 

The 
company's 

transition to 
RPA 

 

Reasons that lead 
companies to 
automation 

0:00 
– 

1:28 
C / T 

- Looking for a way to solve their 
problems 
- Companies have overloaded 
teams, few people, want save 
money 
- Looking for a way to save, reduce 
costs 
- May not hire as many new 
employees 

  

  

Departments in 
companies where 
automation most 
often takes place 

1:28 
– 

2:09 
C / T 

- HR department, finance 
department, operational 
departments, IT 
- Routine activities, where work with 
numbers, invoice processing 
- What is easy to process so that it 
can be easily described, defined, 
analysed for automation 

  

  

Finding out the 
process that is not 

possible to 
automate 

2:09 
– 

4:03 
C / T 

- Often the process is not 
automated as it was originally 
intended, but only some units 
- Company really look for the 
biggest problems and they will be 
automated 
- Focus on the worst problem first 

 

How to properly 
analyse 

processes for 
automation? 

  Adoption by RPA 
4:03 

– 
5:29 

C / T 

- It depends on how much it is a 
priority for the company 
- Depends on the extent of 
automation 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

 
Automation 

 

The number of 
processes that are 

automated in 
companies 

5:29 
– 

5:55 
C / T 

- The number of processes is a 
variable number 
- It depends more on the number of 
hours 
- Automation can save up to 1000 
hours 

There was 
a longer 

pause, the 
interviewee 
considered 
the answer 

 

  

Procedure for 
selecting 

processes to start 
with 

5:55 
– 

7:13 
C / T 

- It starts with the ones that are 
most easily automated 
- The barrier must be torn down so 
that even in their company, 
automation will work 
- It starts with a smaller part, of a 
larger process 
- They have to show that the 
technology has some meaning 

 

How to properly 
show that 

technology will 
work in 

companies? 

  
Ways of 

automation 

7:13 
– 

12:44 
C / T 

- Person with executive power, 
wants to try a new technology 
- Time often plays a role, so it is 
easier to hire someone external 
- Workshops are needed to expand 
know-how 
- People's eyes must be opened so 
that they are not afraid of it and do 
not resist it 
- It is automated internally and 
externally and gradually switches to 
internal automation as much as 
possible 
 
 

 

How to properly 
collect 

automation 
options? 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Ways of 

automation 

7:13 
– 

12:44 
C / T 

- The company hires external expert 
because of experience, knowledge 
and because it shortens the time, 
the adaptation of the company 
- The expert will show them how 
they will develop it in the studio, 
how to collect opportunities, how to 
identify them, evaluate them 

 
When is the right 

time to hire an 
expert? 

  
Automation goes 
according to plan 

12:44 
– 

14:58 
C / T 

- Automation almost never goes 
according to plan 
- The biggest problem is people's 
thinking 
- Technology can be deployed 
everywhere 
- People are afraid of their work or 
think they are better than robot and 
the robot cannot replace them 

 
How to prevent 

automation 
breaches? 

  Human factor 
14:58 

– 
15:26 

C / T 

- In terms of money, the company 
has no problems 
- RPA is the glue of everything, 
once it gets to the middle, it is hard 
to get rid of it 

 
How can RPA 

help 
companies? 

 
Economic 

part 
 

Time and money 
savings 

15:26 
– 

17:49 
C / T 

- Money is hard to tell from the table 
because it comes from time 
- Time savings depend on the type 
of process 
- The process can still be fine-tuned 
for half a year 
 
 

 

How long does it 
take for a 

company to see 
the money and 

time saved? 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
The percentage of 
how much work a 

robot can take 

17:49 
– 

20:36 
C / T 

- Up to 98% of what people did can 
do the robot 
- Usually only a part of the 
employee's work is selected for 
automation 
- It is often calculated on the 
employee's capacity, ie on the FTE, 
or it is calculated on the whole team 
- From the original estimate it is 
usually 70 - 80% of what is then 
realistically realized 

We started 
talking at 

once 
 

  
Reduction or 
increase of 

employees' salary 

20:36 
– 

22:01 
C / T 

- It does not affect the salary of 
employees 
- Employers tend to address the 
value of the work they pay for 
- Employers already know what new 
tasks employees will have 

 

What do 
employers value 

most about 
employees? 
When are 

employees most 
valuable to the 

company? 

  
Layoffs of 
employees 

22:01 
– 

22:16 
C / T 

- Layoffs are perhaps never a 
reason for automation 

  

  
Overview of the 
economic part of 

companies 

22:16 
– 

23:26 
C / T 

 
- There is long-term benefits as the 
companies keep adding automation 
- The biggest benefit is that they do 
not have to hire new employees in 
the long run, so their wage costs 
are reduced 
 

 

What are the 
long-term 

benefits for a 
company that 

has automated? 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Robot operating 

costs 

23:26 
– 

26:44 
C / T 

- The company pays for an external 
customer who helps them with 
automation 
- The company needs to secure 
licenses 
- An automation tool must be 
selected 

 
Which tool is 

most convenient 
for automation? 

  
Implementation of 

RPA in the 
company 

26:44 
– 

27:48 
C / T 

- The company, department or part 
of the team is never completely 
stopped, they are only temporarily 
more busy 
- Employees have their work to do 
and have to talk to an external 
specialist 

  

  
Return on 
investment 

27:48 
– 

27:57 
C / T 

- The return on investment is half a 
year to a year 

  

  
Reduction of error 

rates 

27:57 
– 

28:37 
C / T 

- The robot makes no mistakes 
- The robot cannot solve everything, 
it is usually considered exceptions 
rather than errors 

 

Robot 
exceptions that it 

cannot solve 
and other 
possible 

solutions. 

  
Robot working 

hours 

28:37 
– 

29:20 
C / T 

 
- Robot works at least always 16-18 
hours 
- Companies usually deploy a 
process that takes 8 hours and add 
some smaller ones to it 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

 

Subsequent 
experience 

with 
automation 

 

Disadvantages of 
automation 

29:20 
– 

33:27 
 

C / T 

- Companies know-how and 
process knowledge, sensitive 
information will be revealed to an 
external person 
- The things that a man did will be 
done by a robot 
- Trust must be placed in things and 
not in people 
- A disadvantage may be a new 
element in the hierarchy, as long as 
the team was used to operating 
- It is important to set expectations 
at the beginning 

The 
interviewee 

explains 
the theory 

on real 
cases 

Is a working 
robot more 

reliable than a 
human worker? 

  Dissatisfaction 
with automation 

33:27 
– 

34:18 
C / T 

- Once the company starts, it 
continues to automate to this day 
- When it happens that it does not 
bring what is expected of it, a way is 
sought to get to what was expected 
of it 

  

  
Tactics for robot 

integration 

34:18 
– 

35:13 
C / T 

- It is good to name the robot 
- It takes time for the robot to 
become an integral part of the team 

 

How to ensure 
that the robot is 
received by the 
employees as 

best as 
possible? 

  
Help with 

integration 

35:13 
– 

35:50 
C / T 

- Sometimes companies want 
complete help from the consultant 
sometimes their opinion is enough 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Adoption of a 
robot by staff 

35:50 
– 

37:22 
C / T 

- In the beginning, there is usually 
resistance from employees 
- Integration of robot depends on 
the age group of employees 
- Younger people do not have a 
problem, they rather ask questions, 
older people accept it only when 
they see that it really helps them, 
that it works instead of them 

 
Can a robot 
replace all 

human labour? 

  
Deployment of 
robots in the 

company 

37:22 
– 

39:32 
C / T 

- It is deployed gradually as it 
comes 
- It is not a problem to deploy 
everything at once 
- Deployment in production, brings 
a lot of other pitfalls, because it 
develops in a different environment 
than it then works 

  

  

Change in team 
leadership, after 

the deployment of 
the robot 

39:32 
– 

40:29 
C / T 

- Managers solve with employees 
that if he loses two hours thanks to 
a robot, he will do something else 
- Often people do not catch up and 
automatically switch to work that 
they did not catch up to until then 
- At most people can be transferred 
to another team 

we started 
talking at 

once 
 

  
Negative 

consequences in 
the team 

40:29 
– 

40:53 
C / T 

 
- These are usually temporary 
things that can be resolved quickly 
- The result was always positive 
and satisfied 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Match of idea and 

reality 

40:53 
– 

43:28 
C / T 

- The benefits are evaluated over 
time and the next steps are often 
adapted accordingly 
- It depends on the beginning, on 
the choice of what demonstrates a 
good benefit 
- At the beginning, the company 
does not know what to expect from 
it, so at the end it is often surprised 
how much the savings are 
- In the end, it is tens, hundreds, 
thousands of hours saved 

  

  

Differences in 
benefits according 

to the size of 
companies 

43:28 
– 

44:57 
C / T 

- It is about value 
- A large company already has its 
processes, bureaucracy, but small 
companies have very flexible teams 
- Small businesses count every 
minute 
- The benefit of smaller companies 
is rather sought in the saved 
capacity 
- The benefits for large companies 
are primarily money saved 

 

Comparison of 
saved savings in 
small and large 

business 

  
The biggest 

benefits according 
to the interviewee 

44:57 
– 

47:15 
C / T 

 
- No one wants to lay off workers, 
but rather want to make more 
efficient use of the capacity they 
have there 
- More efficient use of senior people 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
The biggest 

benefits according 
to the interviewee 

44:57 
– 

47:15 
C / T 

- The most valuable thing for a 
company is the know-how, the 
experience of people who work 
there for a long time 
- The employee can make more 
meaningful things 
- In the beginning, 5 - 6 years ago, 
everyone was looking for a way to 
save money and time 
- Today, most people say that they 
will be able to make better use of 
these people, not something more 
interesting, people will be happier 
and employees will bring better 
benefits 

  

 
Concluding 

talk 

 

Final talk 
 

Final talk 
 

47:15 
– 

47:21 
C / T - Thanks for the interview   
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Annex 7: Sequential analysis of the interview with F2 

Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

Questioning 
phase 

 

The 
company's 

transition to 
RPA 

 

Reasons that 
lead company to 

automation 

00:00 
– 

2:02 
F2 / T 

- The company wanted to speed up 
processes, improve approaches 
- Move processes towards greater 
professionalism 
- The staff made a lot of different 
mistakes 
- RPA could save resources they do 
not have 

  

  

Departments that 
have undergone 
robotic process 

automation 

2:02 -
2:26 

F2 / T 

- The process took place at a filing 
office that processes incoming mail 
- It has an impact on different 
departments because it works 
through other 5 - 6 departments 

 

How big is an 
impact of error 

rate of employees 
in work processes  
for the company? 

  
Automated 

process 

2:26 
– 

2:29 
F2 - Incoming mail processing   

  

Finding out the 
process that is 
not possible to 

automate 

2:29 
– 

6:13 
F2 / T 

- Before they started automating, 
they had proof-of-concept done 
- They were unpleasantly surprised 
by a check mark that the robot 
could not handle 
- It took 2-3 weeks for the document 
to be written to the system, now the 
robot will process it in a few hours 
and without errors 

 
The 

interviewee 
explains 

what 
documents 

were 
extracted 
and the 
problem 
with their 
quality 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

 
Automation 

 

The number of 
processes that 

were automated 
in companies 

6:13 
– 

6:43 
F2 / T 

- One process was automated 
- Incoming mail has started to be 
scanned so that the robot can sort 
everything 

  

  

General 
information on 

automation in the 
company 

6:43 
– 

14:16 
F2 / T 

- A company was hired to do free 
proof-of-concept 
- The tender was announced, the 
company that submitted a bid for 
2,000,000 crowns won 
- Company plans to implement 
further automation 
- Company is currently changing the 
system, waiting half a year and 
discovering new manual processes 
for automation 

The 
interviewee 
searches 

for a 
document 

with 
detailed 

information. 
Interviewee 

tends to 
lead the 
interview 

 

  
Number of 
robots used 

14:16 
– 

15:59 
F2 / T 

 
- In the beginning there was only 
one robot 
- After expanding the agenda, a 
second robot was added 
- Now they have 3 robots, because 
the volume of work is growing, and 
the company is trying to make 
absolute use of robot time 
- The advantage of the robot that it 
does not need a break, vacation, is 
never sick 
 
 

 

What are the 
advantages and 
disadvantages of 
a robot compared 

to a classic 
employee? 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Way of 

automation 

15:59 
– 

19:31 
F2 / T 

- Two people taking care of the 
robots were hired 
- Within the contract, the hired 
company guarantees 
implementation and technical 
support for a period of four years 
- The team worked on it for about 
half a year 
- Company have two colleagues 
trained 
- In addition, they have an 
outsource team that handles 
technical support 

  

  
Automation goes 
according to plan 

19:31 
– 

19:59 
F2 / T 

- Automation went according to plan 
- There was just checkbox issue 

  

 
Economic 

part 
 

Time and money 
savings 

19:59 
– 

22:46 
F2 / T 

- It took 14 days than the 
documents entered to the system 
- Sorting took 2-3 days before the 
team of people processed it and 
now the robot does it in a matter of 
minutes, hours at most 
- The robot finds out what type it is, 
sorts it, gives it some sign and then 
tries to extract it, on average this 
process takes the robot 42 
seconds, the shortest time was 8 
seconds 
- From units of days for sorting they 
got to units of hours and from units 
of weeks we got to several hours 

The 
interviewee 
searches 

for 
information 

in 
documents 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  

Reduction or 
increase of 
employees' 

salary 

22:46 
– 

23:00 
F2 / T 

- The salary of employees did not 
decrease 

 

How much 
savings does 
RPA have in 

small and large 
companies? 

  
Layoffs of 
employees 

23:00 
– 

23:25 
F2 / T 

- There were no redundancies in 
the company 
- About two people were just retiring 
so no new people were hiring 
- Some employees got a brand new 
job 

  

  
Increase in 
spending 

23:25 
– 

24:15 
F2 / T 

- It costs the company 2,000,000 in 
four years 
- Within the saved space, a 
colleague into IT was hired 
- The biggest benefit was the 
reduction in error rates 
- The momentum decreased and 
the processing speed increased 

  

  Increase in sales 
24:15 

– 
24:21 

F2 / T - Sales did not increase in any way 

 
It is not a 
trading 

company 
 

 

  
Robot operating 

costs 

24:21 
– 

25:06 
F2 / T 

- Annually the robot (license) costs 
50,000 crowns without tax 
- The company has 3 robots, so 
150,000 crowns a year 

 
 
 
 
 
 
 

How do robots 
prices move in the 

market? 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  

Manifestation of 
RPA in the cost 
structure of the 

company 

25:06 
– 

26:04 
F2 / T 

- The reaction process accelerated 
very quickly 
- Automation did not slow down the 
company at all, there were people 
who did it analytically and prepared 
processes 

The 
interviewee 
did not let 
me finish 

the 
question 

 

  
Return on 
investment 

26:04 
– 

26:27 
F2 / T 

- The investment returned in half a 
year 

  

  
Reduction of 
error rates 

26:27 
– 

26:49 
 

F2 / T 

- The error rate has decreased 
- At the beginning it is difficult to 
estimate what it will bring to the 
company 

  

 

Subsequent 
experience 

with 
automation 

 

Robot working 
hours 

26:49 
– 

27:24 
F2 / T 

- Two robots work all the time, 24 
hours a day, 7 days a week 
- The third robot is busy for 60%  
- Company will need more robots in 
the future 

  

  
Disadvantages 
of automation 

27:24 
– 

28:29 
F2 / T 

 
- People were afraid of it at first, 
then they were happy for it 
- The robot broke down, did not run 
for two days and people found out 
how it suddenly helped them 
 

  

  Tactics for robot 
integration 

28:29 
– 

29:08 
F2 / T 

 
- At the management meeting there 
was a presentation of why it will be 
automated 
- Colleagues provided suggestions 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Adoption of a 
robot by staff 

29:08 
– 

29:46 
F2 / T 

 
- People saw how it works, how it 
helps them, so they accepted it 
- It was good that there was support 
for automation from the head of 
management 
 

  

  

Change in team 
leadership, after 
the deployment 

of the robot 

29:46 
– 

30:41 
F2 / T 

 
- A colleague who is 100% 
concerned and one colleague 
representing him have been 
accepted 
- Each development team has its 
own approach, this is solved more 
by Scrum 
- The first implementation was 
performed by the waterfall method, 
because the quality was decisive 
and not time 
 

 
Is Scrum suitable 

for introducing 
new technology? 

  
Match of idea 

and reality 

30:41 
– 

32:13 
F2 / T 

- Expectations were greatly 
exceeded 

The internet 
connection 
failed for 

few 
seconds 

 

  
Further 

automation in the 
future 

32:13 
– 

32:31 
F2 / T 

 
- When the system that is being 
updated is stabilized, a new 
process for automation will be 
sought 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  

The biggest 
benefits 

according to the 
interviewee 

32:31 
– 

33:25 
F2 / T 

- There is a new technology in the 
company that helps 
- The company can move closer to 
the client, have better 
communication 
- Creative activities were created, 
routine things were left to the robot 

  

Concluding 
talk 

 

Final talk 
 

Final talk 
 

33:25 
– 

35:11 
F2 / T 

- Thanks for the interview 
- Interviewee wants to read this 
thesis 
- Interviewee was interested in 
further interviews with companies 
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Annex 8: Sequential analysis of the interview with F1 

Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

Questioning 
phase 

 

The 
company's 

transition to 
RPA 

 

Reasons that lead 
company to 
automation 

0:00  
–  

0:40 
F1 / T 

- Company has lots of systems that 
cannot talk to each other 
- Data had to be manually 
overwritten from one system to 
another 

  

  

Departments that 
have undergone 
robotic process 

automation 

0:40  
–  

1:09 
F1 / T 

- It is an automation that intervenes 
in several departments 
- Company tries to find processes in 
the whole spectrum of the 
company, where the human factor 
can fall off and be replaced by a 
robot 

 

In which 
departments 

can time save 
the most thanks 

to RPA? 

  
Automated 

process 
1:09 – 
1:30 

F1 / T 
- Data rewriting from one software 
to another is automated 

  

  

Finding out the 
process that is not 

possible to 
automate 

1:30  
–  

2:21 
F1 / T 

- The problem will be processing 
invoices from abroad that have 
different invoice formats 

I interrupt 
him 

several 
times by 

doing 
“ehm “ 

 

 
Automation 

 

The number of 
processes that will 
be automated in 

companies 

2:21  
–  

3:00 
F1 / T 

- 10 key processes for automation 
- Robot will handle for example, the 
receipt of goods, processing of 
documents, processing of 
complaints, simplified processing of 
orders, returns 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
The order of 
processes to 

automate 

3:00  
– 

 3:48 
F1 / T 

- Now withdrawals from the contract 
and complaints will be processed, 
which is the connection of the 
Retino system with the system for 
complaints 

  

  
Way of 

automation 

3:48  
–  

4:26 
F1 / T 

- Senior consultant helps with the 
delivery of knowledge to the 
company and teaches how to work 
with processes 
- The consultant will train people 
and a team will be formed, which 
will then take care of the robot 

  

 
Economic 

part 
 

Time savings 
4:26  

–  
4:56 

F1 / T 

 
- Time savings can be up to 30-40% 
of a person's work 
- The worker in the accounting 
office must process the returns, 
which the robot will be able to 
process and thus the employee will 
be able to solve more important 
things 
 

  

  Money savings 
4:56  

– 
 5:17 

F1 / T - Money savings range in the tens 
of thousands per month 

  

  
Percentage of the 

robot in the 
workload 

5:17  
– 

 5:52 
F1 / T 

 
- The robot will fully take the work of 
one worker, i.e., 40 working hours 
per week 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Reduction or 
increase of 

employees' salary 

5:52 – 
6:12 

F1 / T 

- It will not be reflected in the salary 
now 
- Employees will do things that are 
more valuable, where they can 
show their potential 
- Thanks to the added value for the 
company, the salary of employees 
can also increase 

  

  
Layoffs of 
employees 

6:12 – 
6:51 

F1 / T 

- Redundancies will not occur 
because they still have a lot of work 
to do and need new labour, but they 
have no work-space 
- They are constantly adding new 
offices and they are still small 
- The company will hire new people, 
but does not hire so many 

  

  
Increase in 
spending 

6:51 – 
7:14 

F1 / T 

- Expenditure will increase, but it is 
not at the expense of reducing 
stocks here 
- We want to move people to work 
that will be more valuable for the 
company 

  

  Increase in sales 
7:14 – 
7:31 

F1 / T - They expect an increase in sales   

  
Robot operating 

costs 
7:31 – 
8:15 

F1 / T 

- So far, free capacities are enough 
of robot, only a consultant is paid 
- At the moment knowledge costs 
money  
- Software and robots will cost them 
money the moment they get even 
wider 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Return on 
investment 

8:15 – 
8:43 

F1 / T 

- The return should be within one 
year 
- Employee also creates additional 
value and increase sales and thus 
accelerate the return on investment 

  

  

Manifestation of 
RPA in the cost 
structure of the 

company 

8:43 – 
9:53 

F1 / T 

 
- Automation is planned for the 
summer, when the company has a 
calmer mode than at Christmas 
- It will take some extra time, but the 
intervention will be minimal 
- Approximately 300 hours will be 
invested in automation within the 
company 
 

  

  
Reduction of error 

rates 
9:53 – 
10:25 

F1 / T 

- Mistakes are one of the main 
things a company wants to break 
down because it makes a big mess 
- Fault finding can take up to half a 
day 
- Reducing the error rate is one of 
the main ideas why RPA 

  

 

Subsequent 
experience 

with 
automation 

 

Robot working 
hours 

10:25 
– 

11:24 
F1 / T 

 
- The company wants to make full 
use of the robot and wants to fill its 
capacity as much as possible 
- The use of the robot will be rather 
sudden, it will start working the 
moment invoices or delivery notes 
arrive 
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Phase Sequence # Subsequence # Time Speakers Content Memo 

Relevance for 
the research 
question + 

annotations 

  
Disadvantages of 

automation 

11:24 
– 

12:13 
F1 / T 

- There is a risk that people will 
forget the processes that the robot 
will do 
- It will take some time for people to 
learn to work with the robot and use 
the potential of the robot 

  

  
Adoption of a 
robot by staff 

12:13 
– 

13:01 
F1 / T 

- It should not be a problem to 
integrate a robot, the company has 
a young team of technically 
proficient people 
- The first or second idea was that 
the robot would take their job, but if 
it is explained well, there is no 
danger, the company still has a lot 
of work 
- The robot will do repetitive tasks 
and more lively tasks will be left to 
the employees 

  

  

Change in team 
leadership, after 

the deployment of 
the robot 

13:01 
– 

13:37 
F1 / T 

 
- The company will be able to 
involve more employees in the 
development of the company 
- Employees will not have a 
stereotypical activity, they will be 
able to cooperate more with the 
team 
 

  

  
Match of idea and 

reality 

13:37 
– 

13:48 
F1 / T 

- So far, everything corresponds to 
ideas 
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Relevance for 
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annotations 

  
The biggest 

benefits according 
to the interviewee 

13:48 
– 

14:54 
F1 / T 

- People will not do work that does 
not make sense 
- The company can customize the 
robot itself 
- Systems learn to work together 

  

  
Further 

automation in the 
future 

14:54 
– 

15:07 
F1 / T 

- The company is already 
considering further automation, it 
sees the future in that 
- People have to rethink, form does 
not click through between excel 
tables 

  

Concluding 
talk 

 

Final talk 
 

Final talk 
 

15:07 
– 

15:12 
F1 / T - Thanks for the interview   

 


